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Veeto:rs 
Yecto_r_s can_be desc�i.bed_using column__vectors, 
or using i, j notation:

"iY = ( 
3

1) = 3i - J
I and j are perpendicular unit vectors. o 
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tt is useful to distinguish between position 
vectors and direction vectors.
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A position vector starts -
at the origin. OA tells 

AB tells you the 
direction and distanc=e ,__ 
from A to B.

You can find the magnitude of a vector
using Pythagoras' theorem.

IABI = (_24) = l2i-4JI 

= ✓22 + 42 = 215 

Ignore minus signs when calculating the magnitude 
of a vector. 

(0 unit vectors have magnitude 1.

(0 The distance between two points
A and B is the magnitude of the 
vector AB. 
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p o in t A. --

Tl1e points P and Q have position vectors
3i + 4j a11d -i + 5j respectively.
(a) Find the vector PQ.

PO= OQ- OP 

= (-1 - 3)1 + (5 - 4)j

= -41 + j 
(b) Find the distance PQ.

I PQ I = / -42 + 1 2

= /17

(1 mark) 

(c) Find a unit vector in the direction of PQ.

(1 mark)

1 
/17 PQ = �(-41 +j)

17 
_ 4 I+ 1 j
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( 
Position 

) ( 
Position 

)PQ = vector of Q - vector of F 
You could also use column vectors to 

You can't write in bold in your exe1m! You 
can underline vectors to make t�em 

rn,;,,. clearer. If you're writicng the vector 
between two points, you should 
draw an arrow over the top. PQ is the 
direction vector from P to Q. whereas 
PQ is the line segment between P and Q.
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Now try this 

I The points A and B l1ave position vectors
4i - 2j and 5i + 2j respectively.
(a) Find the vector AB.

(b) Write down the vector BA.

(2 marks) 

(I mark) 

2 Find a unit vector in tl1e direction of ( _ � 0)
(2 marks) 
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